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e Please check that this question paper contains 9 printed pages.

e Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the serial number of the question in the
answer-book before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(1) Please read the instructions carefully.

(it)  This question paper is divided into three sections, viz. — Section A,
Section B and Section C.
(iti) Section A is of 5 marks and has 6 questions on Employability Skills.

(a) Questions number 1 to 4 are one mark questions. Attempt any
three questions.

(b)  Questions number 5 and 6 are two marks questions. Attempt any
one question.
(iv) Section B is of 17 marks and has 16 questions on Subject Specific Skills.

(a) Questions number 7 to 13 are one mark questions. Attempt any
five questions.

(b)  Questions number 14 to 18 are two marks questions. Attempt any
three questions.

(c) Questions number 19 to 22 are three marks questions. Attempt any
two questions.

(v) Section C is of 8 marks and has 3 Competency-Based Questions.

Questions number 23 to 25 are four marks questions. Attempt any
two questions.

(vi) Do as per the instructions given in the respective sections.

(vii) Marks allotted are mentioned against each section/question.

SECTION A
(Employability Skills) (3+2=5 marks)
Answer any 3 questions out of the given 4 questions. 3x1=3
1. Write any two ways to manage stress. 1
2. Rupali is having negative thoughts. Give a suggestion to solve her
problem. 1
3. Write any two examples of green jobs. 1
4., Expand the term UNEP. 1
Answer any 1 question out of the given 2 questions. Ix2=2
5. What is Time Management ? Write two points to keep in mind for time
management. 2
6. Write any two ways to reduce greenhouse effect. 2
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public class SwitchDemo {

public static void main (String|[ ] args) {
int today = 5;
String day = "";
switch (today)

case 1: day = "One"

break;
case 2: day = "Two";
break;
case 3: day = "Three";
Break;

default: day = "Incorrect Day! break;

}
System.out.println (day);
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SECTION B
(Subject Specific Skills) (5+6+6=17 marks)
Answer any 5 questions out of the given 7 questions. 5x1=5
7. is needed to translate high level program code into machine
language code that will be understood by the computer. 1
8. Java byte code is also known as 1
9. What makes Java platform independent ? 1
10. Expand the term IDE. 1
11. Define a variable in Java. 1
12. What is the size of byte data type in Java ? 1
13. Why are database applications used in hospitals ? Give any two points. 1
Answer any 3 questions out of the given 5 questions. 3X2=6
14. What is the importance of comments in a program ? Give its two types in
Java. 2
15. Identify the errors in the following code and write the corrected code : 2

public class SwitchDemo {
public static void main (String|[ ] args) {
int today = 5;
String day = "";
switch (today)
case 1: day = "One"
break;
case 2: day = "Two";
break;
case 3: day = "Three";
Break;
default: day = "Incorrect Day! break;
}

System.out.println (day);
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public class Book {
String title;

String author;
String publisher;
double price;
void display()
{ System.out.println("Title : " +title);
System.out.println("Author : " +author);
System.out.println("Publisher : " +publisher);
System.out.println("Price : " +price);
I
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326 Page 6




16. Differentiate between long and int data type in Java. 2

17. Write a method in Java that accepts side of a square as a parameter and

returns the area of the square. (area of square = side x side) 2
18. Differentiate between data members and method members of a class. 2
Answer any 2 questions out of the given 4 questions. 2x3=6

19. Consider the following class :
public class Book {
String title;
String author;
String publisher;
double price;
void display()
{ System.out.println("Title : " +title);
System.out.println("Author : " +author);
System.out.println("Publisher : " +publisher);
System.out.println("Price : " +price);
ks
Write a command to create a constructor of the above class that
initializes the data members of a class. 3

20. Can we access member of a class by default, if no specifier is mentioned,
in Java ? Differentiate between public and private members of the class. 3

21. Write a loop code in Java to print all numbers in the range of 1 to 49
which are multiples of 4. 3

22. (a) How can we change the priority level of threads in Java ? Also write
the highest level of priority that can be given to a thread in Java.

(b)  Explain the use of sleep() method in Java. 3
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static void method1(int N)
{ int x, y, flg;
for (x =1;x < N; xt) {
if(x==1| x==0)

continue;

for(y=2;y<=x/2; tty) {
if x%y==0) {
flg = 0;
break; } }
if (flg == 1)
System.out.print (x+ "");

} }

25. (%) 3-hEH U SEEH T & TITT HY TEFH 81d © ?
(@) s Tha AU [t R FHATRET o1 SeEd &1 @1 7 | fomef
(Student) difeteht ® IMHA & S_id, sname, sclass, dob, marks.
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é“\aQ | 4
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SECTION C
(Competency-Based Questions) (2x4=8 marks)
Answer any 2 questions out of the given 3 questions. 2x4=8

23. Write method agecheck() in Java to accept age as a parameter and check
whether the person is a major or minor. (If the age is greater than or
equal to 18 years, then the person is major, otherwise is minor) 4

24. Predict the output of the following, if the value of N=19 is passed as an
argument to it. 4
static void method1(int N)

{ int x, y, flg;
for (x=1; x < N; xt%) {
if(x==1|x==0)
continue;
flg = 1;
for (y = 2; y <=x/2; **y) {
if (x%y==0){
flg = 0;
break; } }
if (flg == 1)
System.out.print (x+ "");

} }

25. (a) How are database management concepts helpful in e-Commerce ?

(b) A school is making a database of its students and staff. Student
table includes : S_id, sname, sclass, dob, marks. Give details of
teacher table with its schema. 4
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